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Bridge Controller: State Transitions of the Initial Model
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Event Execution via a Central Controller 
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Using TLA+: Manual vs. Automated

comments
mo.ta Re-translation unnecessary

....-- module mO -...
Emodule if(1) the properties part

EXTENDS

~
modified

CONSTANT
12) lgooPatunchangedhe

evermodifyasseen
11 Model checking

performed directlyupon Plustal
i algorithm

...

*(
22. Translate the Plustal algorithm

ThA+predicates (encodingstates> Eminopredicates) wherever
<

1/1/ before, after predicate= ===== = =

bookani-25 an intermediate version ofalgo.
addednecked commentis is done (so as tofindnois180
to for verification) types.



PlusCal vs. TLA+
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Remotelabs File Transfer

Windows:Ctrl+Shift +Alt

was: Ctrl+Shift+option
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In checking thatinvariantpropertyIholds on each state,

if itfails, itimplies thatthere's one system state
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Next State Actions
/\ stack = <<>>

/\ i = 0
/\ n = 0

/\ pc = "loop"

/\ stack = <<>>
/\ i = 0
/\ n = 0

/\ pc = "choice"

/\ stack = <<>>
/\ i = 0
/\ n = 0

/\ pc = "ML_out_guard"

/\ stack = <<>>
/\ i = 0
/\ n = 0

/\ pc = "ML_in_guard"

/\ stack = <<>>
/\ i = 0
/\ n = 0

/\ pc = "ML_out_occurs"

/\ stack = <<>>
/\ i = 0
/\ n = 0

/\ pc = "ML_in_occurs"

/\ stack = <<[pc |-> "progress", procedure |-> "ML_out"]>>
/\ i = 0
/\ n = 0

/\ pc = "ML_out_action"

/\ stack = <<[pc |-> "progress", procedure |-> "ML_in"]>>
/\ i = 0
/\ n = 0

/\ pc = "ML_in_action"

/\ stack = <<>>
/\ i = 0
/\ n = 1

/\ pc = "progress"

/\ stack = <<>>
/\ i = 0

/\ n = -1
/\ pc = "progress"

/\ stack = <<>>
/\ i = 1
/\ n = 1

/\ pc = "loop"

/\ stack = <<>>
/\ i = 1
/\ n = 1

/\ pc = "choice"

/\ stack = <<>>
/\ i = 1
/\ n = 1

/\ pc = "ML_out_guard"

/\ stack = <<>>
/\ i = 1
/\ n = 1

/\ pc = "ML_in_guard"

/\ stack = <<>>
/\ i = 1
/\ n = 1

/\ pc = "ML_out_occurs"

/\ stack = <<>>
/\ i = 1
/\ n = 1

/\ pc = "ML_in_occurs"

/\ stack = <<[pc |-> "progress", procedure |-> "ML_out"]>>
/\ i = 1
/\ n = 1

/\ pc = "ML_out_action"

/\ stack = <<[pc |-> "progress", procedure |-> "ML_in"]>>
/\ i = 1
/\ n = 1

/\ pc = "ML_in_action"

/\ stack = <<>>
/\ i = 1
/\ n = 2

/\ pc = "progress"

/\ stack = <<>>
/\ i = 1
/\ n = 0

/\ pc = "progress"

/\ stack = <<>>
/\ i = 2
/\ n = 2

/\ pc = "loop"

/\ stack = <<>>
/\ i = 2
/\ n = 0

/\ pc = "loop"

/\ stack = <<>>
/\ i = 2
/\ n = 2

/\ pc = "Done"

/\ stack = <<>>
/\ i = 2
/\ n = 0

/\ pc = "Done"

TerminatingML_in_occursloopML_in_actionML_in_guardprogresschoiceML_out_actionML_out_guardML_out_occurs

<<
[
 i |-> 0,
 n |-> 0,
 pc |-> "loop",
 stack |-> <<>>
],
[
 i |-> 0,
 n |-> 0,
 pc |-> "choice",
 stack |-> <<>>
],
[
 i |-> 0,
 n |-> 0,
 pc |-> "ML_in_guard",
 stack |-> <<>>
],
[
 i |-> 0,
 n |-> 0,
 pc |-> "ML_in_occurs",
 stack |-> <<>>
],
[
 i |-> 0,
 n |-> 0,
 pc |-> "ML_in_action",
 stack |-> <<[pc |-> "progress", procedure |-> "ML_in"]>>
],
[
 i |-> 0,
 n |-> -1,
 pc |-> "progress",
 stack |-> <<>>
]
>>
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1. Add FO-2 to TLS checker for invariantchecking.
2. Ifitfails, do the error trass stategraph
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